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1-2242
B.Com. (II"Y Semester)
Examination, May-June, 2025
BUSINESS MATHEMATICS
(COSC-05)
Time Allowed : Three Hours

Maximum Marks : 70
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Note : There are two sections in the given question

paper. Answer all the questions from Section A

and B.
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(Section—-A)
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(Objective / Multiple Choice Questions)
Q. 1. @0 g & IR A 1x10=10

Attempt all questions.
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Choose the correct answer :

(i) I=m 2412 & ATH &
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Methods of solving simultaneous equations :
(a) Substitution method
(b) Comparison method
(c) Elimination method
(d) All of these
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Type of Interest is
(@) Compound Interest
(b) Principal Interest
(c) Amount Interest

(d) Market Interest
(V) SR @mst @ g &
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Formula of Simple Interest s -

(@) SI- PxR
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(b)
(c) S1=PxRx*Tx100
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(d) SI= m

7.4 x 6.5 & AF & :
(31) log x = log 7.4 * log 6.5
(§) log x = log 7.4 + log 6.5
(|) logx=7log4 x6log?5
(@ log x =log 7.4 —log 6.5
The value of 7.4 x 6.5 will be :
(@) log x = log 7.4 x log 6.5
(b) log x = log 7.4 + log 6.5
(c) logx=71log4 x6log 5

(d) log x =log 7.4 —log 6.5
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Find mean proportional of 5and 20 :
(@ 3:3:4:4
(@ S
(| 4:3
(b) 20
@) T ¥ B T8
(c) 25
What is the ratio of 4 kg Rice to 3 kg Rice ? o 10
a) 3:4 |
) (viii)2,73ﬁ<9asr3ﬁﬂagﬁn
234
o 4 (31 6
(c) 4:3 o
(d) None of these =
(i) 5 3 20 31 Frea TR 2 @ 9
e Average of 2, 7 and 9 :
6
(@ 20 ”
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Formula of calculating profit

(@) Profit = Cost Price — Sales Price

(b)  Profit = Cost Price — Sales Price x 100
(c) Profit = Sales Price — Cost Price

(d) Profit = Loss + Cost Price x 100
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Types of Discount are :
(a) Trade Discount
(b) Cash Discount
(c) True Discount
(d) All of these
@y Ia A
(Short Answer Type Questions)

Q. 2. @y & IR Al
Answer all questions.
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(10) 1)

a furniture for ¥ 1,200 and

) Ram purchased

Multiply usin i . i
g Vedic Mathematics - (6 x 7). sold it for ¥ 1,500. Find his profit and profit

(i) 5 78 & 5% M @ & x ¥ 2,000 7 3 percent.
|ue-a

R &5 19 $ifee
I
(Section-B)

Fi : ,
ind the simple interest of %2,000in 5 yea
' rs oD I
at the rate of 5%
er .
per annum. (Descriptive Type Questions)
(iii) @ Tramak
PTG 2 : 3 & o1 31 oy gs A e TR Al 4x10=40
& W Tamy Note : Answer all questions.
The ralloi6F two Q. 3. e whw H wEEd J g DT
numbers is 2 : 3 ang their
| 9996 x 988
Sum is 85. Find the numbers
, ' Solve using Vedic Maths :
(v) 3R B Ry
9996 x 988
E "
xplain Average. 3ryar / OR
V) W 3 o :
tﬁﬁmteooyﬁwmisoo? g BT -
§ ¥ & 15x + 3y = 39
39HT :
T T o sfivet s e
1-2242 12x + 9y = 51
P.T.O.
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Solve :
15x + 3y = 39
12x + 9y = 51

2,600 X B A W & g9 wwR qifE B geey
uz4°/oﬁa?é,§a?umu¥6%£raréa2naﬁﬂ%
TR 8% B R ¥ AORT = T A
Divide % 2,600 into three parts in such a way that
the simple interest on first part at the rate of 4%
on the second part at the rate of 6% and on the
third part at the rate of 8% is equal,

3Yar/ OR

3,000?@36&*33%@5%%33@%%3%
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(13)

i rs
Find the compound interest on ¥3,000in 3 yea

i h
at 5% p.a. compounded annually. Find the

amount also.

XY 3R Z & gat @ 30,000 X, 20,000 T 3R
10,000 T 1 v ¥ @1 @ 1,200 | am-at N
% oo § @ I R y&® P o gasel
X, Y and Z have capitals of ¥ 30,000, T 20,000
and T 10,000 respectively. The profit of one year
is T 1,200. Profit and losses are shared in capital
ratio, obtain the profit of each.
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On a certain day 15% of the boys were absent
and 51 were present. Find the number of boys
enrolled in that class.

T e B b g 120 X ) 30 foma )
15% MRS Tg1 IR 5% JPg qg7 o smwn 2|
T3 3 e 4 AR P ¢ B R T diforel
The list price of a Bank is ¥ 120. A discount of
15% and a cash discount of 5% is allowed to the
buyer. Find the net value of book and total
discount rate.
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T a8 @ 120 T F qU W 25% @ At 21 ok
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(15)

There is a profit of 25% when an article is sold at
% 120. What will be the gain percent if the article

is sold for ¥ 128 ?
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